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PLF(Tj) = 1 ¥ Cd × (1 ¥ X1(Tj) ¥ X2(Tj)
¥ X3(Tj)) = the overall part-load
factor for outdoor temperature bin j.

Cd = the coefficient of cyclic
degradation for heating.

nj = the number of hours in the jth
outdoor temperature bin.

The steady-state heat pump space
heating capacity in the space heating
only mode is determined according to:
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The steady-state electrical power input to the heat pump in the space heating only mode is determined according
to:
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The steady-state heat pump space heating capacity and water heating capacity in the combined heating/water heating
mode is determined according to:
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The total steady-state electrical power input to the heat pump in the combined heating/waterheating mode is deter-
mined according to:
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